
Challenge:
Make up a number story for 
question 1. 

Date: 25.1.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 341 + 28 =

3)  127 + 43 =

1) 234 + 52 =

Challenge:
What is wrong with this calculation?  

Date: 26.1.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 222 + 83 =

3) 826 + 94    

1) 743 + 29 =

Challenge:
Write an inverse operation (-) for 
question 1. 

Date: 27.1.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 805 + 98 =

3) 45 + 883 = 

1) 54 + 307 =

Challenge:
What are the missing values?

Date: 28.1.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 7 x 4 = 

3) 7 x 8 = 

1) 7 x 3 =


